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FIRST REVISION TEST - 2024 _
| Standard X regNo.{ [ [ 1 1 1]
MATHEMATICS
Time:3.00 hrs Part | Marks : 90
I. Choose the correct answer: 20x1=20
1. Letf:-R—R be defined by f(x) = 1.- |x]. Then the range of f is v
a) R b) (1) T e) (1) df (~,1]
2. The solution set of |x — 1| > |x - 3| is vA T |
a) [0,2] b) (0, 2) [2, o] d) (==,2)
3. If sin a + cos a = b, then sin 2a is equal to
a) b2—1ifb}f -1,ifb= 17
c),b2—1,lfb2f | dﬂbz-—ﬂfbcf
4. ;’+/3/+5+_? + ...+ 17 is equal to 1
81 b) 101 - c) 61 d) 71
.. 1 g |
5. The sequence ¥~ J§ T J_ --------- »form an
a) AP ) GP of/HP | d) AGP
6. Theline (p +2q)x + (p—-3q)y=p—q for dlfferent valuesof pand g passes threugh the
point
< S {7 s | (L3N 2 3
2B Gy e 3
. : "0 &N -b
7. The value of the determinant of A o _I:' Y ; IS |
a) —2abc - b) abc ; J e d) a?+ b?+ 2
8. Vectors 3 and p are mclmed at an angIeB = 120“ If |a] 1 |bi 2 then
ﬂa...;;;. L _334,)“ a)225 . b)275 - ¢)325 a{aoo
B i‘fm 3__
-_:f. 3, bﬂﬁb by 09{ J c) '03{'5) d 5
10, i!’f(x)w x+2, then f(x)) atx=4is , .
TS é f;l-l s D)A s i) A ~d) §

| :» Q('r) +C =) 2&(0& - 1) +C

3
Kindly send me your answer keys to us - padasalai.net@gmail.com
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ks O S Xl Maths
12. Ten coins are tossed. The probability of getting at least 8 heads is

_'7- . 7 g ? ) ’ 7
%) 54 b 128 16 4 33
13. If R is a relation from a set A to a set B, then - | |
a) R=AuB b) R AnB q(_c_mga .d). Rc BxA
“ 11
14. The coefficient of x—= i |n the expanslon of [x - E] |
a) -924m’ - b) -792m?® c) —792 mﬁ h J/.?;30 m/
15. The equation of the straight line passmg through the point (3 2) and perpendtcular to
theliney = xis | |
a)-x-y=5 b)/x+y—5 L c) x+y=1 d)x—y-1

16. The value of .2%_4%._'3%5 _______ , i g e
a) 1 | m/z”' c)%-' | Zd) .4

e L d ,
A7. fy = sec(tan“l x)'than =X atx=1is

dx j j
R N )
' S 18. [e* (sinx + cosx)dx = | , |
i ca) et CoBX + C e b@sm)wc
| - c) e-cosx+sinx)+c d) @ SINX * Coreas t e
| 19. The remainder when 3815 is divided by 13 is
TR o2 By 1 c)5 - a)/12
3 20.[(“7“3”")3 dx =
| | g - | B i _
h D/ 4 - ! o
| S (logx)* * R e
; ' a +C .b) 3(!0:_:1::()2 +C c) (Iogx)4fc v _ d) 3log x
Part- Il '
ll. Answer any 7 questions. {Q.No.30 is compulsory) 7x2=14

21. Ifn(A) =10 and n(A N B) =3, then find n((A ~ B)nA)
. 22."Compute log,5 log,s 27

23. Prove that sin(30° + 0) + cos(60° + 9) cos6 - |
| 24. If the different permutations of all letters of the word BHASKARA are listed as in a
A dictionary, how many strings are there in this list before the first word starting with B?

1 % . 25. Ifois a parameter, find the equation of the locus of a moving point, whose coordinates
3 rx o are X = a cos®0, y = a cos?0,

e ————
u

: cosa -Sina | '
H{Ba=! o« cosq | then find all possible real values of  satisfying the condition

Au*AaT=l
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27. Find 3, when the projection of 3 - 2i+j+4k onb=2i+ 6] + 3k ‘is 4 units. 6

Lim I X

IR IXED
29. Integrate with respect to x : X2 COS X

- 28. Calculate

' 2 Ldih
| sin~ 1 x Qi ' {

20. =-3( | ] _’ﬁnd dx |

| | Part - lll

IIl. Answer any 7 questions. (Q.No.40 is compulsory)

31 Prove that ap + q = 0 if f(x) = x> - 3px + 2q is divisible by g(x)
32. Solve: ,,fit.-;_m2 0+ (Ji . 1)tane 21=0

7x3=21
= x2 + 2ax+a®

| e k

33. Prove that 24C, + 2 (28 -=r)C, =29C,

: r=0 . :

' 34. Show that' the straight lines joining the origin to the points of intersection of
3x — 2y + 2 = 0 and 3x? + 5xy — 2y2 + 4x + 5y = 0 are at rightangles.

| 35  Find the area of the triangle whose vertices are
A3, -1, 2),B(1,-1, -3) and (4, -3, 1)

36. Using Factor Theorem, show that o Vz L= ‘(" -y)ly -2z)(z = x)

{

s L37. Find the derivative g—;i ifx=a(cost+tsint); y =a(sint-tcost)
- 38. Letthe matrix Mt ﬂ .If x, y and z are chosen at random from the set {1,2,3} and
i | L repetition is allowed (ie.; X =y = z). What IS the'probability that the given rgatrix Misa

- singular matrix? L T ,
- 39. Using Binomial Theorem, prove that 6" —'5n always leaves remainder 1 when divided

by 25 for all positive integer n.

- 2 B
i '
-'_ b - ikYT: o g T
= o LN ] e \ 3
= flll"':'-t N = LB

S R If .f(-_m,;) T x = — show that (fof) (x) = x, what is the inverse of f. o
T AR Part - IV :
V. Answer all the questions. 7x5=35
i~ r‘*I A —.1 :...;' A2 ™ :
e i x> +x-5 |If XE(*WQ)

i k= : i
¥ Tl s

b - i - P .“

L bt o A

o T & i = '-;ﬁ ‘l
i T.-,?
| i
§ %)

fl = | ‘
0 if x L R x € (0,2)

u
|
i
T
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I

_1+cos(A~B)cosC M\

S aTh ) y : az+b
b) Inatriangle ABC, prove that —

a“+c®  1+cos(A-c)cosB \
- 2 | PyTh e 3 )
42. a) _Resolve into partial fractions : =X+ T (OR) Pﬂ. )
X +x2+x+1
b) Find the number of strings of 5 letters that be formed with th letters of th
_ 'S that can be formed wi e letters of the -
word PROPOSITION. ° o | 7 | |
&5 ' v
- - . 3 .
43. @) Findthe sum up to the 17" term of the series L. 4 1 +2° _ 1> +2% +33 200

LS -1 ey T

| (OR) | |

b) In a bolt factory, machines A, B and C manufacture respectively 25%, 35% and
~ 40% of the total bolts of their outputs 5%, 4% and 2% are respectively defective

bolts. A bolt is drawn at random from the product. If the bolt drawn is found to be
. - defective, what is the probability that it is manufactured by the machine B?
44. a) Show that the medians of a triangle are concurrent. (OR) v-2 5 2
b)  Describe the interval(s) on which each functionis continuous. |

) 4 ; _Jsinle, x=»0 % - |xsind. , x=0 V-3 12
i) f(x) = tan x n)g(’() { BRI .")h(x)-{*o "' e .
45. a) Astraightline L with negative slope passes through the point (9, 4) cuts the positive
~ coordinate axes at the point P and Q. As L varies, find the minimum value of
|OP| + |OQ|, where O is the origin. (OR) -\ 2SS
b) IfA+ B+ C = nx, then prove that

sfn5+sin-g-+sin% = 1+4sir(“;A]sir{“;E]sir{“'c]'\f"‘ ‘23

2 4 4

ol 2x +1 * '
46.a) Integrate with respecttox: [=———7 . (OR) v-2¥q 222

" b) ' Three vectors 3 b and ¢ are such that [ - 2., Bl=3.[¢l4and 345 4¢=6.
. .find 43.6+3bic+3ca V-2 Y

. _2)d%y IdY_ 2: '
*tft_le%_qprwethat(l+x ).a-x;ﬂca;-nv (OR)

d

3. nid i eifiinesn S| i
=Mr+3x +Cx+D,thﬁnﬂnd'B+‘c
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H??
f-??? GL) FQ—b)“—"—) } FQs):.gg b) PCD); PCﬁ)PC%).—!-P(@ P(,_E_ +
F&=1, ¥1)=-5 fo)=-3 '
b) f%i’_______@ﬁszféolﬁmsm D pc%): 2
TT (2RsmA)H( 2RSH)™

el (69533--5;}{‘*32 09)
(= (co5%n - Sin’e)
— ""%CA'BEC_
(7“@5(5—9%5 . . !,% ?
144 (=
oy - g _ X4pte
Lo —xx) A, Bx+T - i |
i o S 2

1 -
Zpgeet]  XH ) b) |
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